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This Booklet contains 24 pages. S S

Do not open this Test Booklet until you are asked to do so.

Read carefully the Instructions on the Back Cover of this Test Booklet.,

Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars on Side-1 and Side-2 carefully with
blue/black ball point pen only.

The test is of 8 hours duration and this Test Booklet contains 180 questions. Each question
carries 4 marks. For each correct response, the candidate will.get 4 marks. For each incorrect
response, one mark will be deducted from the total scores. The maxjmum marks are 720.

3. Use Blue/Black Ball Point Pen only for writing particulars on this page/marking responses.
4. Rough work iz to be done on the apacé provided for this purpose in the Test Booklet only.
5. On completion of the test, the candidate must hand over the Answer Sheet to the

Invigilator before leaving the Room/Hall. The candidates are allowed to taka away
this Test Booklet with them. .

The CODE for this Booklet is SS. Make sure that the CODE printed on Side-2 of the Answer
Sheet is the same as that on this Test Booklet. In case of discrepancy, the candidate should
immediately report the matter to the Invigilator for replacement of both the Test Booklet and
the Answer Sheet.

The candidates should ensure that the Answer Sheet is not folded. Do not make auj; stray
marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified
space in the Test Booklet/Answer Sheet,

Use of white fluid for correction is not permissible on the Answer Sheet.
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A solid sphere is rotatmgs freely ar;hout its
symmetry axis in free-. -space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would

remain constant for the sphere ?
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escaping from the Earth’s atmosphere ?
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A tuning fork is used to produce resonance in a

glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ¢em and 73 cm of

column length. If the frequency of the tuning fork
is 820 Hz, the velocity of sound ini‘air at 27°C is
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A pendulum is hung from the roof of a

sufficiently high building and is moving freely to |

and fro like a simple harmonic oscillator. The
acceleration of the bob o e pendulum is

position. The time period of oscillation is

(1) 1s L\O . (128
4> 5n~ T

(2) 23; .
3 s LU:,A = a,bl{

The direction
reversed, keeping maggitu'ae
“proton is allowed to fall from rest in
the same vertical distance h. The time

(1) 5009 N equal
9250 Q
3) 250
4) 40Q
LAACH/SS/Page 6

5 SP;?E

5=2dtwmh
RS

W =2

WTRK‘
JTC),

i
I



















































